


Normal Distribution
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Poisson Distribution
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Poisson Distribution
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most nodes are poorly connected,
p(k) while a select minority of hubs are highly connected.
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Poisson Distribution

limitation: the occurrence of a new relationship is considered

independent of previous relationships.



Power Law Distribution
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Power Law Distribution

~ most nodes are poorly connected,
p(k) while a select minority of hubs are highly connected.




Preferential Attachment Model
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Degree Distribution
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Degree Distribution (log-log)
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